. Which of the following is not an advantage of marsupialization?
e A. Exposure of very little bone

e B. Preservation of vital structure

e C. Rapid healing

e D. Conserve surgical sutures

. An empty cavity in the mandible with no lining is most likely to be :
e A. Aneurysmal bone cyst

B. Idiopathic bone cavity

C. Dentigerous cyst

D. Keratocyst

. The cyst is deroofed and the surrounding periosteum is sutured to the
margins of the cyst wall in:

e A. Decortication

e B. Marsupialization

e C. Saucerization

e D. Enucleation

. Ameloblastoma is best managed by:
e A. Chemotherapy

e B. Radiotherapy

e C. Gene Therapy

e D. Surgical excision

. The most appropriate method to differentiate between a dentigerous cyst and
an ameloblastoma is through:

e A. Radiographic examination

e B. Aspiration cytology

e C. Microscopic examination

e D. Clinical features



6. When treated with simple curettage, which odontogenic tumor is most likely
to recur?
e A. Complex odontoma
e B. Compound odontoma
e C. Odontogenic myxoma
e D. Ameloblastic fibroma

7. Odontoma is treated by:
A. Excision
B. Resection
C. Curettage
D. Radiotherapy

8. Treatment of ameloblastoma:

A. Excision of tumor

B. Resection of the mandible along with the tumor
C. Incisional biopsy and marsupialization

D. No active treatment is necessary

9. Osteomyelitis of the jaw can be cured by:
e A. Resection
e B. Physiotherapy
e C. Sequestrectomy with antibiotic treatment
e D. Drainage

10.During development of the teeth, Ectodermal tissues will give rise to

e enamel.



e Dentin
e Pulp

e cementum



